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0.0

2.5

5.0
model
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5 0 5
5.0
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5.0
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0.50.40.30.20.10.00.1

Fiber 2935, dchi2frac= 1.0
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5.0

2.5

0.0

2.5
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data

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model
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5 0 5
5.0
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2.5

5.0
residuals

2.0 1.5 1.0 0.50.0

Fiber 4849, dchi2frac= 0.9
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5.0
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0.0

2.5
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data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.00.80.60.40.20.0

Fiber 2831, dchi2frac= 1.0
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data
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model

1 2 3 4 5
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5.0
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5.0
residuals

0.60.50.40.30.20.10.00.1

Fiber 1189, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.3

Fiber 2846, dchi2frac= 1.0
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data

0.50.0 0.5 1.0 1.5 2.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.50.0 0.5 1.0 1.5 2.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.080.060.040.020.000.020.040.060.08

Fiber 1220, dchi2frac= 1.0
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5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.1

Fiber 712, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.51.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.51.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.10

Fiber 1471, dchi2frac= 1.0
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0.0

2.5
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data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.6 0.4 0.20.0

Fiber 4337, dchi2frac= 1.0



5 0 5
5.0
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0.0

2.5
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data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.10.20.30.4

Fiber 4552, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.60.50.40.30.20.10.00.1

Fiber 2691, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.751.501.251.000.750.500.250.000.25

Fiber 4702, dchi2frac= 1.0



5 0 5
5.0
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0.0

2.5
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data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.4 0.3 0.2 0.10.0

Fiber 1336, dchi2frac= 1.0
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5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.10

Fiber 4963, dchi2frac= 1.0
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5.0
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2.5
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data

0.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.00.80.60.40.20.0

Fiber 1158, dchi2frac= 1.0
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data

0.51.01.52.02.53.03.54.0
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5.0
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model
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5.0
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2.001.751.501.251.000.750.500.250.00

Fiber 1031, dchi2frac= 1.0



5 0 5
5.0
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0.0
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data

1.52.02.53.03.54.04.55.0
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5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5
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2.5

5.0
residuals

0.80.60.40.20.00.2

Fiber 2720, dchi2frac= 1.0
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data
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2.5

0.0
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model
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5 0 5
5.0

2.5

0.0

2.5
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residuals

0.0750.0500.0250.0000.0250.0500.0750.1000.125

Fiber 144, dchi2frac= 1.0
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2.5
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data

0.51.01.52.02.53.03.54.04.5

5 0 5
5.0
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0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.250.200.150.100.050.000.050.10

Fiber 1418, dchi2frac= 1.0
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5.0

2.5

0.0

2.5
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data

1.01.21.41.61.82.02.22.42.6

5 0 5
5.0
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2.5
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model

1.01.21.41.61.82.02.22.4
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0.3 0.2 0.10.0 0.1

Fiber 160, dchi2frac= 1.0
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data
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model
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0.3 0.2 0.10.0 0.1

Fiber 4103, dchi2frac= 1.0
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data
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model

2 3 4 5 6 7
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5.0
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residuals

0.8 0.6 0.4 0.2 0.0

Fiber 2321, dchi2frac= 1.0
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5.0
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data

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.3 0.2 0.10.0 0.1 0.2

Fiber 4981, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.751.001.251.501.752.002.252.50

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.81.01.21.41.61.82.02.22.4

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.1000.0750.0500.0250.0000.0250.050

Fiber 1414, dchi2frac= 1.0
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5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.10

Fiber 780, dchi2frac= 1.0
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0.0

2.5

5.0
data

0.40.60.81.01.21.41.61.82.0

5 0 5
5.0
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0.0

2.5

5.0
model

0.40.60.81.01.21.41.61.82.0

5 0 5
5.0

2.5
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2.5

5.0
residuals

0.3 0.2 0.10.0 0.1

Fiber 4357, dchi2frac= 1.0
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data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5
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5.0
residuals

2.52.01.51.00.50.0

Fiber 2643, dchi2frac= 1.0
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data
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model
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residuals

0.20.10.00.10.20.3

Fiber 2409, dchi2frac= 1.0
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data
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model
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residuals

0.00.51.01.52.02.5

Fiber 1376, dchi2frac= 1.0
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data
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model
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residuals

0.60.40.20.00.20.4

Fiber 2899, dchi2frac= 1.0
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data

1.01.52.02.53.03.54.04.55.0
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model
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5.0
residuals

0.100.050.000.050.100.15

Fiber 1466, dchi2frac= 1.0
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data
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model
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5.0
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residuals

0.500.250.000.250.500.751.001.251.50

Fiber 2265, dchi2frac= 1.0



5 0 5
5.0
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5.0
data

1.01.52.02.53.03.54.0
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5.0
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2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5
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2.5

5.0
residuals

0.50.40.30.20.10.00.10.2

Fiber 4042, dchi2frac= 1.0
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data
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model
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0.8 0.6 0.4 0.20.0

Fiber 2906, dchi2frac= 1.0
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data

1.52.02.53.03.54.0
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5.0

2.5

0.0
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5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5
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2.5

5.0
residuals

0.60.50.40.30.20.10.00.1

Fiber 2653, dchi2frac= 1.0
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5.0
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2.5

5.0
data

1.01.21.41.61.82.02.2

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.81.01.21.41.61.82.02.2

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.100.150.20

Fiber 4566, dchi2frac= 1.0
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0.0

2.5

5.0
data

1.52.02.53.03.54.04.5
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2.5

5.0
model

1.52.02.53.03.54.0
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5.0
residuals

0.150.100.050.000.050.100.150.200.25

Fiber 2013, dchi2frac= 1.0
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data

1.01.52.02.53.03.54.04.55.0
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model
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4 3 2 1 0

Fiber 259, dchi2frac= 1.0
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data
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model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.0 0.1 0.2 0.3 0.4

Fiber 982, dchi2frac= 1.0
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data

0.51.01.52.02.53.03.5
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5.0
model

0.51.01.52.02.53.03.54.0
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1.751.501.251.000.750.500.250.000.25

Fiber 1065, dchi2frac= 1.0
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model
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0.50.40.30.20.10.0

Fiber 719, dchi2frac= 1.0
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data
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5.0
model
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1.501.251.000.750.500.250.00

Fiber 2479, dchi2frac= 1.0
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data
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model
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Fiber 2141, dchi2frac= 1.0
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data

1.52.02.53.03.54.04.55.0
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5.0
model

1.52.02.53.03.54.04.55.0
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5.0
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5.0
residuals

0.70.60.50.40.30.20.10.00.1

Fiber 4145, dchi2frac= 1.0
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data
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model

1 2 3 4 5
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0.250.200.150.100.050.000.050.10

Fiber 38, dchi2frac= 1.0
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data
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2.5

5.0
model

1 2 3 4 5
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5.0
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5.0
residuals

0.050.000.050.100.15

Fiber 1210, dchi2frac= 1.0
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5.0

2.5

0.0

2.5

5.0
data

0.51.01.52.02.53.0
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model

0.51.01.52.02.53.03.5
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0.3 0.2 0.10.0 0.1

Fiber 1170, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0
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model
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0.200.150.100.050.000.05

Fiber 729, dchi2frac= 1.0
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data

1.52.02.53.03.54.04.55.05.5
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model

1.52.02.53.03.54.04.55.0
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5.0
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0.30.20.10.00.10.2

Fiber 2232, dchi2frac= 1.0
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data

1.01.52.02.53.03.54.04.55.0
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model
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2.001.751.501.251.000.750.500.250.00

Fiber 4559, dchi2frac= 1.0


